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25 Important Questions — Physics

1. Two identical cells are connected in (a) series(b) parallel then maximum power

2.

transfered to the load is/ |1 o= Adl & waiforag fear siar 2 1 svfiew o
IR o9 ¥ | d s gfRig 91 Aiafka efed sferead s

a) Same in both cases/=i= Rerfa & w#H

b)Different in both cases/gI=t Rerfa # /o=

c) May or may not remain same depending upon polarity of the cell
connected/dH & I dadl srear Fd i, R eRar @ WS U w|dl @t
gadl I)

d) None/s-9 9§ &ig =181

An electric bulb connected to a source having rated voltage consumes more

3.

than rated power just after it is switched on, this may be due to/v® d=[d ded
@1 Ifpd dlccdr & SRTER dicedr SId A SisT AT 8 a9 91 o819 & d3d
q1c g Jifea vifed @ sifre 2rfed &1 SUUIT XAl 2 | S9bT BIRYT 8l Ghdl 2 |

a) As soon as switch is closed a voltage surge occur across the filament which

leads to high power consumption /Raa §€ &34 & q¥d d1€ dd 9% fauar<x
9¢ orar @ foras wifed sudir ff 9 wirar 2

b) When filament is at room temperature its resistance is less than its

resistance when the bulb is fully illuminated/dd &1 &R & dgaH W yfoxig
T A9 Yuid: YbIfId 3a< 9 &Y gidr 2 |

c) As soon as switch is closed current through filament increases linearly

which leads to high power consumption/Raa d€ ®xd & d3d d1€, dd 9
yqIfed oRT IET w9 9 dedl 8, foras zfad SuHivT 9¢ oirar 2 |

d) because potential difference across filament Is less than E.M.F./ ®ife dq
R foya=R Sid @ d9d 98® 9 ° $H sidl 2 |

Current is passed through a metallic wire,heating it red. When cold water is

poured over half of its portion/ & enfcdad dR 9 dd do ERT ydifad &1 ol
8 & W9d® I8 T BTHY o AT 8 WU | 39 Ife sae el Rl W Ser urHl
sTel fear iy, .

a) Rest of the portion will become more hot/31u fawar IR 3fred 1 8 Sirean
b) Rest of the portion will become cold/3i9 f&==m g1 81 SIMenm

c) Whole rod will become cold/93T @R SST & SITUIT

d) None/s9 9§ &l -1d)

A compartment of a train is lit by 20 identical bulb in series. one of the bulbs

fuses and is removed from the chain. The remaining bulbs now light the room.

The light in the compartment will :-/ 29 & S8 % 20 THgaE 99 Aol o
4 21 Uh dcd WISl BI1 WX GAIGA 9§ gl fear oar 21 dl A9 dedl & BIRuT
fesd d el
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a) Increases/de SITUfY

b) Decreases/€ic SITefY

c) Neither increases nor decreases/3mafRafda =2
d) None/s-9 9§ &iIg -1d)

5. Kirchoff's voltage law in a circuit indicates :-/ fox=i® @1 dlecar s aRuer §
TIriar © .
a) Electric field inside current carrying conductor is hon zero/sIRTATEl dTd® &
fiax dega &= e giar 2
b) Electric field outside current carrying conductor is always zero/sIRidrg!
I b d18x ded &= I Bidl ©
c) Electrostatic field is conservative field/ReR dega a3 wxefl ysfa &1 8idr @
d) None of the above/s=9 & #1g &1

6. A piece of copper and other of germanium are cooled from room temperature

to 100K :-/ Us did Ud SHfIH & cdbs &l IR & d99r 9 100 K d@  SST
far sirar 21 a9

a) Conductivity of copper increases and that of germanium decrease/drd @\
dletddl de il vd wafaa &) aefl

b) Conductivity of copper decreases and that of germanium increases/did @i
Ardddl gl vd sy a1 gef

c) Conductivity of copper as well as germanium both decreases/dIsii @1
EIGESIRC R

d) Conductivity of copper as well as germanium both increases/<idl @1
Irdbdl gl

7. A constant potential difference is maintained across a conductor .If the

8.

temperature of conductor is increased,drift speed of electron will:-/ T& dre®
o R ) fad favaiak aRifda 21 afe arae &1 audE 99T Sie,dl
sdelAl ®I 3udsd aTd

a) Increase/¥=Y

b) Decrease/=refY

c) Remain same/smafRafda <2

d) Can't say/®g &l d&d

On bending a conducting wire its :-/ dTel® dIX &1 s W19 YR s9&dT gfoxie

a) Resistance will increase because drift velocity of electron in bent wire
decreases/de ST ®ifd g€ 8¢ dR ¥ Sodci=l @ 3Uded dd °Uc Wl 2
b) Resistance will decrease because drift velocity of electron in bent wire
increases/=ie I wRifh S 8¢ dR H soldci-l @l 3dsd dld d¢ Wrdl @
c) Resistance will remain same because drift velocity of elctron in bent wire
will remain same/3aRafda @M wIfe gs ¢ ar d gdaclsl @ 3udsd drd
Rikil s e B
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d) Resistance will remain same but drift velocity of electron in bent wire will
decrease/dd 9 X247 fdq S 88U dRR H soldci<l & JUdsd dld ©c STl
In which material electric currents develop when an electric field is applied ?/

10.

Jad 89 T R 399 9 ey ucref ¥ oRT s Bl @

a) Conductor/drde®

b) Wooden piece/d®s! &I chsl

c) Non-conductor/3rdra®

d) Insulator/%dre®

In which substance, positive and negative charges both can move/ f&a u<ref

11.

Rl s G G B A G L e R 1 O s S )
a) non-electrolytic solution/3Fded 3vacy faea+
b) Electrolytic solution/3Fded saca faea+
c) Both (1) and (2)/ (1) wd (2)=i4t
d) Neither (1) nor (2)/ s (1) 71 g1 (2)

I
V= F’ AT FEd®

12.

a) Resistivity (r)/ gftRig®ar (r)

b) Voltage (V)/ fawar<x (V)

c) Current density (J)/ a1 "< (J)

d) Resistance (R)/ gfa=ier (R

The algebric sum of changes in potential around any closed loop involving

13.

resistor and cells in the loop is /f&l T qu ¥ forad yfcRig vd 9o o< & o
favarax &1 freidria @i gar 2

a) More than zero/3I= 9 3ifér®

b) Less than zero/3I[<1 @ &4

c) Zero/3I[=

d) Constant/f-ara

The wheat stone bridge and its balance condition provide a practical method

14.

for determination of an /&l ¥4 dq @I dqfaad Reafa @ wsrar 4 sa
CAGEE
a) known resistance/sird gfaxier
b) unknown resistance/aﬁnﬁ gfoRier
c) both (1) and (2)/ (1) w4 (2) <=1
d) none of the above/s—rlﬁ q HIg T8

Which of the following draws no current from the voltage source being

measured ?/ 59 & &9 41 9194 fHd WM 91 dieedl ©id 9 9RT 98] ddr2
a) Meter bridge/fiex |q
b) Wheat stone bridge/<le i1 dq
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c) Potentiometer/faaaardy
d) None of these/sH | ®Is T8I
15. Kirchhoff's junction rule is a reflection of /fex=i® &1 w1 9 goiar g1
a) Conservation of current density vector/aIRT a-d_afeer e =4 &1
b) Conservation of energy/Seit dxervr a9 &1
c) The fact that the momentum with which a charged particle approaches a
junction is unchanged (as a vector) as the charged particle leaves the
junction/amaer & fr fig R 47T A& & a9 @I

d) The fact that there is no accumulation of charges at a junction/afer fdg 4wx
A UHAd A3 Bl Tbdl

16. The direction of the flow of current through electric circuit is /fe<l T€la
yRuer § gRT yarg @1 fezm gidl 2

a) from low potential to high potential/fF=1 fawa & S@a faua
b) from high potential to low potential/S=a fawa | =1 fava
c) does not depend upon potential value/fava oz fadx 8 &=ar
d) current can not flow through circuit/em=T garfed =& sl 2

17. The electrical resistance of a conductor depends upon:/ feal daraied &1 gfaRie
ey &var 2

a) Size of conductor/dTd® & 3MHPR U
b) Temperature of conductor/=Td® & ATIHI U
c) Geometry of conductor/@Ta® &1 ST 4R
d) All of these/Suxiaa i
18. Which of the following I-V graph represents ohmic conductors ?/ /=1 & &
I |-V UTH, MHR A1 1 Fefid w=ar @

F

v
a) o
I
)
v
b) ©
I
1;'."
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v
d ©

19.With increase in temperature the conductivity of:/ 499 ¥@TU WM W
dlefddl
a) Metals increases and semiconductor Decreases/drq. #§ dgdl 2, gdras #
Hedl @
b) Semiconductor increases and metals Decreases/dgdrcdl®d ¥ dgdl &, dldd®
¥ gedl 2
c) Increases in both of them/<i+i # sedl &
d) Decreases in both of them/<i=i # "ed 8

20. In the series combination of two or more than two resistances :/ <l 3121 <l
 Jrfere gfaxien @« Aviisea Gaiea & forg

a) The current is same for each resistance/sTRT 9% yfeRig & forw a8
b) The voltage through each resistance is same/fawaurd yxi® gfkRig @ forw
AT BT

c) Neither current nor voltage through each resistance is same/s1 al &IRT 5 &)

favauad v uferig & fav w9 8
d) Both current and voltage through each resistance is same/uyx® uftRig @
for o1 vd fawaura waE 8
21.Principle of wheatstone's bridge is used in a/an/a&c w4 449 @ fRigrd w®
JmeTRdT I 2
a) Galvanometer/ie@=iiardy
b) Potentiometer/faHasrd
c) Ammeter/3rHiex
d) Voltmeter/diecHiex
22. In a wheat stone bridge if the battery and galvanometer are interchanged the

deflection in Galvanometer will /&l e dq ¥ afe Tddidier vd a8 &I
=} yRafda »x fear sy, ai fagyu

a) Change in previous direction/fUsefl fazm 4 &
b) Not change/3maRafda @
c) Change in opposite direction/faudia faem ¥ 8
d) None of these/s=® & ®ig =gl
23.Point out the right statements about the validity of Kirchoff's junction
rule/fez=ie @« S fFam © fav w1 soq 8
a) Based on conservation of charge/ds 3md3r dx&vT & 9 U= 3menflRa @
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b) Outgoing currents adds up and are equal to incoming currents at a
junction/<fsr WX frfd oIRIY SIS®R M RN @ §x1EX Bl 2
c) Bending or reorienting the wire does not change the validity of kirchoff's
rule/drR &1 Al WM &1 feaEiv & a9 IR dis gard <21 Bl
d) all of above/SuRida

24. In parallel combination of n-cells we obtain/ n-@ell & WHIAX HH AT D

fore, &9 ura i @
a) More voltage/3ifsie diecdr
b) More current/3ifer® &IRT
c) Less voltage/®H diee
d) Less current/®H €IRT
25. AB is a wire of potentiometer. With the increase in the value of resistance R,
the shift in the balance point J will be/AB fawaardl &1 ar 2| yfexiagr RA 49fg
fou w1 WX Aqaq f§g J Ragear €

E R
—] Ht)—yﬁ

"B

—] —G—

a) towards (B)/ (B) @Y 31X

b) towards (A)/ @t 31}

c) remains constant/smaRafda vear &

d) first towards B then back towards A/ugd B @1 a¥%, ¥ A &) a¥w
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Answer Sheet
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C | 16.
B |17.

A 18| A

C|20.| A

B | 22.

1.

2.

3.

4. A |19.

5.

6. A |21.

7.

8. | C |23.

9.| A|24.| B
10. | B | 25.
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12.
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